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Question Paper Code : 7661
M.A. (Semester-II) Examination, 2018

DEFENCE  STUDIES
[ Second  Paper  ]

( Study of  War )
Time : Three Hours] [Maximum Marks : 70

Note : Answer five questions in all. Question No.1 is
compulsory. Besides this, attempt one question from
each unit.
dqy ik¡p iz'uksa ds mÙkj nhft;sA iz'u la[;k&1 vfuok;Z gSA

blds vykok] izR;sd bdkbZ ls ,d iz'u dhft,A

1. Write short notes on the following : [3x10=30]
fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Low Intensity Conflict
U;wu rhozrk la?k"kZ

(b) Type of War
;q) ds izdkj

[P.T.O.]
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(c) Cycle of War
;q) pØ

(d) Insurgency
foIyo

(e) Nuclear strategy
ukfHkdh; L=krth

(f) Nuclear Detterence
ukfHkdh; izfrjks/kdrk

(g) START
LVkVZ

(h) SALT
lkYV

(i) NMD
,u-,e-Mh-

(j) Nuclear Umbrella
ukfHkdh; Nrjh
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UNIT-I @ bdkbZ&I
2. Describe Guerrilla Warfare propounded by Mao-tse-tung.

[10]
ekvksRls rqax }kjk izfrikfnr xqfjYyk ;q) i)fr dk o.kZu

dhft,A

3. Do you think that 'the Government has succeded in
achieving peace in India's North-Eastern region by
political and military operations." Discuss. [10]
vkids fopkj esa D;k ßljdkj us jktuSfrd vkSj lSfud lafØ;kvksa

ds rgr Hkkjr ds mÙkj&iwohZ {ks= esa 'kkfUr LFkkfir djus esa

lQyrk izkIr dh gSAÞ foospuk dhft,A

UNIT-II @ bdkbZ&II
4. "In the nuclear age strategy has changed from the art of

war employing violence to the art of threatening violence."
In the light of this statement explain the strategy of this
statement explain the strategy of nuclear detterene.[10]
ßukfHkdh; ;qx esa L=krsth fgalk ds iz;ksx dh dyk ls ifjofrZr

gksdj fgalk dh /kedh nsus dh dyk gks x;h gSAÞ bl dFku ds

izdk'k esa ukfHkdh; Hk;knksgu dh L=krsth dh O;k[;k dhft,A

[P.T.O.]
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5. Write an essay on nuclear development and their impact
on contemporary world peace and security during cold
war period. [10]
'khr;q) dky ds nkSjku gq, ukfHkdh; fodkl rFkk rRdkyhu

oSf'od 'kkfUr ,oa lqj{kk ij mlds izHkko ds Åij ,d fucU/k

fyf[k,A

UNIT-III @ bdkbZ&III
6. Why PTBT, NPT and CTBT are unsuccessfull treaties

to prevent nuclear proliferation ? Discuss . [10]
ijek.kq izlkj dh jksdFkke esa ih-Vh-ch-Vh-] ,u-ih-Vh- vkSj lh-

Vh-ch-Vh- tSlh lfU/k;ka vlQy D;ksa jgha \ ppkZ dhft,A

7. Distinguish between disarmament and arms control. Is
arms control must for maintaining world peace ? [10]
fu%'kL=hdj.k vkSj 'kL= fu;U=.k esa Hksn crkb;sA D;k fo'o

'kkfUr LFkkfir djus gq, 'kL= fu;U=.k vko';d gS \

UNIT-IV @ bdkbZ&IV
8. What do you understand by Strategic Defence Initiative

(SDI) and discuss the main goal of S.D.I. Describe it.[10]
LVªSVsftd fMQsal buhf'k,fVo ¼,l-Mh-vkbZ-½ ls vki D;k le>rs

gSa vkSj ,l-Mh-vkbZ- dk eq[; iz;kstu D;k gS \ O;k[;k dhft,A
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9. Define War and discuss the stages of War. [10]
;q) dks ifjHkkf"kr dhft, rFkk ;q) dh voLFkkvksa dh foospuk

dhft,A
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